EAMHUUbI U3MepeHuUA
naowaau.
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/. Ymo makoe ap,
2ekmap?

2. [1N1A 4e2o OHU HVXKHbI?
3. [de ux npumeHarwmM?




[lo3HakoMumbcA ¢
noHAMUEeM ap, 2ekmap.

Pa3zsusamb yMeHue
yumamsap U 3anucbiBamsb
eduHuUUbl hjiowaou.







1a=100 kB.M

8 a =800 KB.M
60 a = 6000 KB.M




CTaAUNOH ,

Mnouwanp
AAYHBLIX y4acTKOB
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ﬂ;%b UTo Takoe rektap (ra)
100 m

1 ra=100-100=10 000 m2
1 ra=10 000 m2
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/l1ayHbIN
YYacCTOK.

Onpenenu
naowaab
yyacTKa, JOMa
cajga U oropoa
ec/un

1 kKB.CM = 50 KB.




Yyactok 5x3=15kB cMm
15 x 50 = 750 KB.M

Cag 2x3=6 KB. CM
6 x 50 = 300 KB.M

Oropopg 1x3=3 KB.CM
3 x50 =150 KB.M

Zlom 50 kB.M + 50:2 = 75 KB.M

cag

oropona




EAMHULbI NIOLLAAN

12 4 1 ra




EAKELII NIOLAAY

1 AM?
1 M2
1a

1 ra
1 KM?2







